FONRAY”

R L
Rodless Cylinder

FPRCL* &3l FPRCL* Series

4%:BE Features

O fiE =M 50%
075 3 AR S i & wfLiRiE
© £ R 51| 4 M wg

@ Equal forces on both ends of the piston.

@ High cantilever and direct loads can be taken on piston.
@ Multi ported endcaps as standard.

@ Self guiding.

@ High temperature seals available as a standard option.
® Many mounting options available.

3 #& Specification

FU5E Model

FPRCL

FPRCLF

1EBN
Acting type

HENE

Double acting

HEHE

Double acting

SRELRIE
Tube I.D. (mm) 1611125

32,40 | 16 | 25 | 32,40,50 | 63

B &R M5

Port size G1/s

G1/4 | M5 | G1/8 G1/4 G3/8

BREO#
No.of port

3

{ERmE
Medium

=4 Air

EREAEE

Operating pressure range

1 ~ 7.8 kgf/cm®

FERE

Ambient temperature

-15C ~ +80C ( A%k No freezing )

A5
At #AME AN E £A M T With or Without lubrication

Lubrication

BEEEE

Cushion

inEEAT SR 42 & With adjustable cushion at both ends

ITizEEE

®16:100 ~ 3300 mm

Stroke range ( %1 )

®25 ~ 63:100 ~ 5600 mm

X FER
Seﬂfsfrﬁﬂwitch RCAL
2K e B A [ E R L

Sensor switch holder

® 50% Space saving when compared to conventional cylinders.

@ Reed switches available.

@ Magnetic as standard.

@ Simple construction enables rapid servicing of cylinder.

@ Slow speed grease available as option to enable very slow

51 FTREAEHEN 1mm,
*2: AREEFTLEHN, BRKRILF—EZRFE.
FAERERHER, BEBaRZlsEE,

% 1: Minimum stroke unit 1mm.
%2: The tube isn't airtight, so the cylinder is allowed little leakage.

and smooth piston movement.

TEER 5 Ordering Code

FPROL

- 90V -

25 M 0850

L

il X HEZHIER
Model Type Piston seals
FPRCL - e & S
BRI RS || CEREERE
] Exmn for piston speeds
Long piston V=1mis)
98 | type
(3 A Only for VITON
FPRCL) v (EREERE
FPRCLF — for piston speeds
V> 1m/s)
| /

Before the cylinder is sale, it has passed the standard of leakage test.

HEA AR

M: Bii#EA
=8 AHEA
Magnet Code
M: Magnet
Blank: Without
magnet

1758
Stroke

SELRR
Tube I.D.
— (4 %% Four
16 codes)
25
32
40
O & A For
63 FPRCLF

100 ~ 5600mm

-5 - 242

RHEA
Accessory

B
Grease lubrication
EHEH
- Standard
grease

{RiEiH
S | Slow motion
grease

X i AR
@ 1ZHiH
NBR Z#I&: 0.2m/s <V <1m/s
VITON ZHEE: 1 m/s<V
® {KiEim
NBR Z#IR: V<0.2m/s
VITON Z#IR: V<0.2m/s
% Speed range for the different greases:
@ Standard grease:
NBR piston seals: 0.2 m/s < V < 1m/s
VITON piston seals: 1 m/s <V
® Slow motion grease:
NBR piston seals: V < 0.2 m/s
VITON piston seals: V < 0.2 m/s




3R L
Rodless Cylinder

FPRCL* &%l FPRCL* Series
YER 1K F1%E Capacity ©16 ~ ©63

FONRAY®

Hv

E3(# Guiding axle

RS Piston axle y ’

FPRCL
T BRIERS J— BAEHAR BAEE M NI BAEHHE
Cylinder Effect force Cushion (mm) Max. allowed Max. allowed Max.allowed
at 6 bar (N) load (N) bending moment (Nm) torque (Nm)
® y F S L Ma Efi[5] axial Mr €[] radial Mv Hi:x central
16 9 110 15 120 4 0.3 0.5
16L 9 110 15 120 5) 0.4 0.6
25 14 250 21 300 15 1.0 3.0
25L 14 250 21 300 20 1.5 6.0
32 18 420 26 450 30 2.0 4.5
32L 18 420 26 450 60 3.5 10.0
40 23 640 32 750 60 4.0 8.0
40L 23 640 32 750 130 7.0 20.0
® 16L ~ 40L: RiEZEA!, B 98 BN, WANEMAEKR, H ® 16L ~ 40L: cylinder with long piston for heavy bending, torque
Rk, EERENES. moments and vertical movement.
O tETHEEESEAE, HERKESEKESH 6bar, {E ® The figures above are max. values based on light shock free duty o
PR V < 0.2m/s 2408, and speed‘ of V < 0.2m/s. Max. pressure 6 ba.r. o)
® EIAERIEYR T EREHE, HEERE FREne, [ ] /:‘nnoz(:rizdlrrlwgsc;fotgz ligzseén dynamic operations, even for short &
® iR MR —ERERMERER, LERAEEERLS [ ] Attention:‘ResuIting forces could lead to extreme exceedings of 8 %
PEA 10-20% BIRERZE the values. In case of undefinable situations the above max. gﬁ
-~ O,
FPRCLF values have to be reduced by 10 ~ 20%. <=ﬁ[
=]
o BRIERS P BAEFAN BAEHE S BAHEE &
Cylinder Effect force Cushion (mm) Max. allowed Max. allowed Max.allowed =
at 6 bar (N) load (N) bending moment (Nm) torque (Nm)
® y F S L Ma &fi[5] axial Mr 1€[5] radial Mv s central
16 9 110 15 120 4 0.45 0.5
25 14 250 21 300 15 1.5 3.0
32 18 420 26 450 30 3.0 4.5
40 23 640 32 750 60 6.0 8.0
50 28 1000 32 1200 115 10.0 15.0
63 36 1550 40 1650 200 12.0 24.0

@ FRZHEEBHEKE, HIERKSESRKES 6bar, 1
FEE V < 0.2m/s Ziki.

® EENERERA TR ERENE, HEEBB ERFERE,

@ TE: MR—ERERNEAERE, LRRAEEERLFE
B4R 10-20% IAFER R &,

@ The figures above are max. values based on light shock free duty
and speed of V < 0.2m/s. Max. pressure 6 bar.

@ An exceeding of the values in dynamic operations, even for short
moments, has to be avoided.

@ Attention: Resulting forces could lead to extreme exceedings of
the values. In case of undefinable situations the above max.
values have to be reduced by 10 ~ 20%.

= : .
EE % Cylinder weight Wit Unit: g
z HAEE Basic weight |4 100 mm 4742 ( Stroke100 mm ) o H A E 2 Basic weight |4 100 mm 72 ( Stroke100 mm )
&k Model FPRCL FPRCL 2k Model FPRCL FPRCL
i i
Tube I.D. Tube 1.D.

16 16 230

25 25 710 294

D32 D32 1,150 379

D40 ®40 2,700 594

D50 4,000 648




AR L
Rodless Cylinder

FO"RAY® FPRCL* 35| FPRCL* Series

HEEEFR Capacity @16 ~ 63

#2 &8k A1 Cushioning diagram

10

g

E

; 3 NN NN WL

NSNS

Q. N

w ‘s \\ N \

s \\\\Q i it ~

E \ \\gj\ \\\b\d

o s ™ ™~ \\\\‘?\

LR ~ QEERNASAN

W NN N

‘E#@[ 0.2 \ N ™ %

e

OloT 02030405 1T 2 3 4 5 10 00 7000
@@ E Cushioning mass (kg)

HEBETIIEE: Pay attention to the following points
O B INAEERE S1#BIB FRESHIMMEEEFR. @ If the limits above are exceeded additional shock absorbers are necessary.
O EiEEREE V < 0.1m/s TfE ARIFMBH, FNFTERHZAKIEH, @ For piston speeds < 0.2 m/s slow speed lubrication is necessary.
O EEEEKRBIB 1m/s BIERENERASZS, ® Maximun seal life will be achieved when piston speeds do not exceed 1 m/s.

SRELEERLE Positioning of cylinder mountings

2000
E___é?*__--_---\
g 1500/—
= 30 1 __
= F \
8 1000[— Y N
| =___]40 _ | _
== === =
C___Jd6 _ | \\
= k\\ [~ | Deflection 1 mm

1000 2000 3000

F #5[E R Distances free of mounting L (mm)

wW

L

EL Diagram information
O HERIZMEEEE 05 ~ 1 mm EER, RFBHEBRE, @ Calculated deflections without support of 0.5-1 mm allow exceeding of
ORI ZIREEELE1 ~ 1.5mm (BXE) €ER, ERIKREBRE, the approved limits.

@ Calculated deflections without support of > 1- max.1.5 mm require
reduction of approved limits.

| 31 Y



BEAREL

FO" RAV N FPRCL* Z 5l FPROL* Serioe

5MERR~F Dimensions ©16 ~ ®40

(A+ 1772 stroke) £0.5

B +1T#& stroke D B C ‘

L2
E
) F
2-MX N & depth ‘ K ‘ A L
=il | ! | l- ! ’
MU0 Y. L
wmem 0 © e Ve |
Cushion screw
RE A ' &
View - e SR
N__G
ERO
o Air connections
#HE (View) A: D16 ~ 32 5 E (View) A: D40
| R -—
.S T
u
. [» Q
s T N
— o
. Sin . :
o y N
< ® YNi o/
N
2 » = AERL -
Ko 1 2 > Mé; o~ Piston center =
S ‘ 2 =
EERD 1| = \\7 z A
’Piston center o L 1 o
N N 5
N e —~ VH \ 1]
4-M1 X Ni& depth : Wh 3G t 3-G (7] #
- ERO e WH ) ERO ® *E
90 gg%ﬁ / T Air connections 4-M1 XN iR depth Air connections (@)
ype o Qu
8% Code >S5
1918 Tubo 1D, A B C D E F G H J K L L1 L2 M M1 N o P P1 o
16 130 12 15 76 64 48 M5 12 5.5 32 - - - M4 | M3 7 6 43.5 | 42.3 2
25 200 17 23 120 | 100 | 80 G1/8 | 185 | 85 50 6 7 100 | M5 | M5 11 13 66 58
32 250 | 23 27 150 | 110 | 90 G1/4 22 | 105 | 55 6 7 130 | M6 | M6 14 12 86 82
40 300 | 45 30 150 | 110 | 90 G1/4 24 15 55 6 7 130 | M6 | M6 15 12 97 93
3% Code
H1E Tube 1D, Q R S T U VH VS WH WS w1 W2 Y Z1 Z2 Z3
16 25x24.5 27 18 4 10 18 18 27 27 13.5 9 4.5 37.5 24 28.8
25 36 x 36 35 23 5 15 27 27 40 40 20 13.5 6.5 53 33 38.8
32 48 x 52 4 27 6 18 36 40 52 56 30 22 8 74 44 53.5
40 58 x 58 41 28 6 18 54 54 72 69 36 27 9 85 49 58.2
o
98 &5 / Type
3% Code
& Tube 1D, A B C D E F G H J K L L1 L2 M M1 N o P P1
16L 180 | 37 15 76 64 48 M5 12 5.5 32 - - - M4 | M3 7 6 43.5 | 42.3
25L 300 | 67 23 120 | 100 | 80 G1/8 | 185 | 85 50 6 7 100 | M5 | M5 11 8 66 58
32L 400 23 27 300 | 240 180 G1/4 22 10.5 | 120 - - - M6 M6 14 12 86 82
40L 500 | 70 30 | 300 [ 240 | 180 G1/4 24 15 120 - - - M6 | M6 15 12 97 93
3% Code
191 Tube 1D, Q R S T U VH VS WH wWs W1 w2 Y Z1 Z2 Z3
16L 25x24.5 27 18 4 10 18 18 27 27 13.5 9 4.5 37.5 24 28.8
25L 36 x 36 35 23 5 15 27 27 40 40 20 13.5 6.5 53 33 38.8
32L 48 x 52 41 27 6 18 36 40 52 56 30 22 8 74 44 53.5
40L 58 x 58 4 28 6 18 54 54 72 69 36 27 9 85 49 58.2

® 16L ~ 40L: RiFES, RI 98 &KX, HANEM WERAEXNSGE. ® 16L ~ 40L: Cylinder with long piston for heavy bending and torque moments.

| 52



FONRAY”

D16 ~ 32

EARE

Rodless Cylinder
FPRCL* &%l FPRCL* Series

SV R~ Dimensions ®16 ~ ©63

D B
E ’
!
© [ >
_______%_Ai______ -
£ | ©
i
4-M1
2 X A+{T#2 stroke
| A
C l J
e} I
g [ &
g - N
N> ﬁﬁgf—ﬁiﬁ—*—ﬁiﬁ—fiﬁiﬁ— G
i
3% Code
) A | B|C|D|E G J M M1 P Q S| U |[VH|VS WH WS|{W1|Y
AE Tube 1.D.
16 65 [155( 15 | 69 | 36 M5 55 | M3x7 iR dp M4x7i®Rdp | 365 [25x24.5| 22 |165| 18 | 18 | 27 | 27 | 135 4.5
25 100 |21.5( 23 [ 112 | 65 | G1/8 | 85 | M5x 12 dp | M5x8 K dp | 52.5 | 36x36 |33 | 25 | 27 | 27 | 40 | 40 20 | 6.5
32 125 (22.0| 27 [ 152 | 90 | G1/4 [105| M6x 15 dp | M6x8 &K dp | 66.5 | 48x52 | 36 | 27 36 | 40 | 52 56 30 8
D B
E
2 X A+1T7E stroke
| A S
% o l <L B
TTT T
T h e
—(% $ )
© T @ |so
1/ S /R DA | i) | _ ]
# S ‘@»/
{f NG -
\ © | @z
Y ili X
- \—IVH \_4-M
~ WH
3% Code
: A|(B|C|[D|E G J M M1 P Q S [U|VH{VS({WH|WS|W1|Y
AE Tube 1.D.
40 150 | 44 [ 30 [ 152 90 | G1/4 | 15 | M6x 15 dp | M6x 10 R dp | 80 58x58 |36.4| 27 |54 |54 | 72 69 36 9
50 175 | 42 | 33 (200 (110| G1/4 [11.7| M6x 15 dp | M6Xx 10K dp | 89 77 x76 56 | 27 | 70 | 70 | 80 80 | 436 | 5
63 215 |475( 50 | 235|155 G3/8 | 25 | MBx 17K dp | M8x 14K dp | 123 | 102x102| 50 | 36 | 78 | 78 | 106 | 106 | 62.5 | 14.5

| 83 Y



R EL
Rodless Cylinder

FO"RAV® FPRCL* &35 FPRCL* Series

ZEEHLE  Accessories for mounting ®16 ~ ®63
mERHETZE (#E A FPRCL/FPRCLF)
End cover bracket (foot) ( for FPRCL/FPRCLF)

D16 P25 D32 D40

ailp gp
262D @F@ﬁ @ ET@
/ W @) 242D @)
E‘v ':@ ©
gpuiares | [F E
6

P50 P63
Iy
[ B8 ?
e ‘ @eo @\
o> | 2oz @)
h | ajlmlO
s |
] . @;[ © | © @ i
J -3 Lz . 26
Nl | zF |6 zB - ]
zc
£ Code ATRERES 58 Code ATEERES A
& ZA |ZB |ZC |ZD |ZE | ZF (ZG |ZH | ZP Order Hi ZA |ZB |2C |ZD | ZE | ZF | ZG | ZH | ZP Order o
Tube 1.D. number Tube 1. number o
16 16|18 |26 |36 | 4 | 14 [1.5|125| —— | PL24/1 40 — |54 |71 | 9 |115| 24| 2 | 20 | 30 PL 24/4 8%
25 25[27 |40 [55| 6 |22 2 [ 18| — | PL242 50 {70 80| 9 |125| 25| 2 | 25 | 45 | PL2455 n ]
32 —— |36 |51]65| 8 |24] 4 |20)20]| PL243 63 — |78 {106] 11|15 30| 2 [ 40|48 | PL24s6 Q 51
323 — |40 |56 |65| 8 26| 4 20|20 | PL24/3.1 g
Q.
R 3738 EE Articulated carrier ( i@ For FPRCL/FPRCLF) ]

D16 D25 D32 D40

B i e © s
| m— 2 S

] \
[ |

| / $ZM -
T—L il | 1 i
ZN o %% o
N HiNEE ﬁf 1l i
o ZQ ZJ
®d50 P63 3 L—*ZN L—*ZK
%% Code RIEERTE
e o [ ZE|ZF |ZJ |ZzK|ZL |zZM |2N|ZO|zQ| Order
I( 2 AI4% Tube I.D. Tl
I [ 16 | ——l38 |50 6 [55|20| 3 [—|PL25/
\ ) $ZM _ 25 | —|48 (60| 6 [55[20] 4 [— ] PL252
| / 32 | —le1|73]10|65|55]| 6 |40 | PL25/3
-

{ @ @ | NN < E 40 — | =70 85|10 6560|7245 PL25/4
bl za 7E 7F | 50 22 | 35 [120|146] 48 [ 66| 45 35 30 | PL25/5
Q ZN 2J 63 225| 35 | 147|172 | 48 |66 | 45 | 4 | 30 | PL25/6

| 34 Y



Rodless Cylinder

FPRCL* &%l FPRCL* Series
ZHEF {4 / BAERSRE Accessories for mounting / sensor switch ®16 ~ ®63

FONRAY”

FEINHER
Mid section support

FPRCL ®16, ®25

FPRCL 932, ®40

KC
e o 8
] 1
a -
X = [G)
[ 1ij J:IX -
; \
TS Y S ,
Jac) = ®»
&/ : {
® |9 /
BLHEBARA Sensor switch
FPRCL ®50, ®63 e
#$& Specification
ZigE Model RCAL
KA KH FARAE .
| WE | P KB Switch type H#EE Reed switch
I — s
— 1 = ?o%rft?iitts %5 Normal open
i .y
< - 9] fEFEREE
e 6 < N ([ o o [] Voltage range DC/AC5 ~ 240V
| X = 32 4 [
ol o /[ / ERERGE
© © L "\ : Current range 100 mA max
- - e —— Switch range 10W max
| f i
\ \ &% E
o@ ! @0 / ) Shock resistance 801G
2B
Voltage drop 2.5V max
FEERER T
Response time 1ms BLF Max.1ms
ERBREEE
Temperature -10C~ 70T
3% Code STHERE RET
KA|KB [KC| KD (KE| KF** |[KG|KH|KJ| KY** Order Leen wie ®4,2C,PVC
A& Tube 1.D. number
BERE
FPRCL-16 |25|45|28| 13 | - 47-50 2 120 |10 33 PL 225/1 Lead wire length 2m
FPRCL-25 [37|55|42| 20 | - | 72-75 | 3 [30|16| 50 | PL225/2 BB EHEBEES ON) 55, JErES
FPRCL-32 |70|6.5|70| 38 |55 | 91-100 | 5 |90 | 75 | 102.3 | PL225/3 Indicator lamp LED lights up when ON
FPRCL-40 [70|65|70| 38 |55 |111-120| 5 [90 |75 | 102 | PL225/3 i . IP 67 (NEMA 6)
Enclosure classification
FPRCLF-50 (90| 9 - |43.7| 70 | 136-151 [ 6.4 |120|100| 93-108 | PL 225/5 ErEERe
FPRCLF-63 |90| 9 | - |437|70| 152 |6.4|120[100] 99 | PL225/6 Indicator _ #x#& Green LED
“*KF/KY R~FitIEEE . **KF/KYsize is not fixed.
%% Code R HERA A
J o~ U e A B [E] %€ JEE
© © ¥ © o Tube 1.D. Switch holder
< 2 16 16 | 205
@“ EEST AR 25 15.5 | 35.5
32 155 | 41.5
HPL
13 40 10.5 | 46.5
= 50 | 165| 56
63 15.5 | 68.5




PR EL
Rodless Cylinder

FO"RAY® FPRCL* &3l FPRCL* Series

IEZEFELERST Hold plug 16 ~ ®50

ZEBE Hold plug

Z58 Hold plug

Hold plug
3% Code
A& Tube 1.D. = i
16 0.7 7.5 8% Code
25 1.0 13 1€ Tube 1.D. = = © = =
32 0.7 18 16 75 (53|13 ]| 2 M5 x 0.8
40 0.7 18 25 13 8 15| 4 G 1/8
50 0.8 18 32 ~ 50 18 | 10 | 1.5 4 G 1/4

#: mEER O SEMERR

Note: The dimension of end cap which lock hold plug.

g

A
o
=
®
7]
(7]
(2)
=
=
Qo
(1)
=




